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CHAPTER 1. (DEMOCRACY IN THE CONTEMPORARY WORLD) (BASED ON NCERT PATTERN)

Question 1. Which of the following does not lead to the spread of democracy?
(a) Struggle by the people

(b) Invasion by foreign countries

(c) End of colonialism

(d) People’s desire for freedom

Answer:- (b) Invasion by foreign countries

Question 2. Which of the following statement is true about today’s world?

(a) Monarchy as a form of government has vanished.

(b) The relationship between different countries has become more democratic than ever before.
(c) In more and more countries rulers are being elected by the people.

(d) There are no more military dictators in the world.

Answer: (c) In more and more countries rulers are being elected by the people.

Question 3. Use one of the following statements to complete the sentence:
Democracy in international organisations requires that ...

(a) The rich countries should have a greater say.

(b)Countries should have a say according to their military power.

(c) Countries should be treated with respect in proportion to their population.

(d) All countries in the world should be treated equally.

Answer: (c) All countries in the world should be treated equally.



